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$EZHBE
([EZEY]
B R 8 =
($F12 ) ($F17 &)
EREE (ha) 2,130 2,200
- 102 27 YIRE (kg) 2,670 3. 200
WEE (1) 56, 900 70, 400
EHEE (fEM) 173 210
@R (ha) 3,940 2,100
sig | 102 EEURE (@ 2,290 2,700
WEE (D 90, 200 110, 700
EHE (Em) 178 230
@R (ha) 2,950 3,000
—— 102 %7 YIRS (kg) 3,570 4. 200
WEE (1) 105, 400 126, 000
EHE (EM) 114 150
EHEE (ha) 705 760
- 102 27 YIRE (ke) 1. 260 6,100
WEE (1) 30, 000 16, 360
EHE (M) 89 160
@R (ha) 1,980 5000
i 10a 27 YIRS (kg) 220 240
= WEE (1) 11,000 12, 000
EHE (fEM) 80 100
GAREY () 27,700 28, 150
- 1 ELYAE (ke/&) 9. 044 9. 200
EIEEE (1) 189, 753 195. 500
EHE (M) 255 273
GRREY () 40, 000 20, 800
N F RIS (3) 11,500 12, 350
FICE R TR (30 2. 600 2. 850
EHE () 94 110
= GEAREY () 614, 700 630, 000
EHE () 447 182
- GEAERM (TH) 9. 858 9. 858
EHEE (M) 295 326
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